
NAT II Physical Science Mathematics

Sr Questions Answers Choice

1 Question Image

2 Which is an explicit function D. All

3 Question Image
A. 0
B. 1
C. -1
D. 2

4 Question Image
A. 1
B. 2
C. 3
D. 4

5 Question Image
A. 0
B. -2
C. 1
D. 4

6 Question Image
A. 0
B. -25
C. 5
D. 45

7 Question Image

8 Question Image

9 Question Image

10 If 1 + Cos x = 0, then x =

11 Question Image

12 In which quadrant is the solution of the equation sin x - 1 = 0
A. II quadrants
B. II and III quadrants
C. III and IV quadrants
D. I quadrant

13 Question Image D. None of these

14 Question Image

15 Question Image


